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o ch_omgmgv must be mﬂgm& ‘on. the sammie® mx‘w, The whole
.area is not _m.nmmn than 300 m2. The area of ?a .Uogm depart-
ment should be at most 220 m?, but 803 nrmb Sco times the
amoéunt of the M - department plus 30 m?'; BvOmEEo

O .<S5a wamm ooagcmsonm are’ vomm&_% ,

o 6. In a. amvE&Bgn store, the. movwgBmpg for, %ozm. w mba for

CIBF d-conditioxis for o Sick .w. A S

mb&w»m Sum E,oEoB E»o a mv.mnt _Emma uma:mrsg

EEE .P:Oﬁm&%& the solution X of mmm.?&ogum Bmgx macmSon.

- (b)* E“m: basic feasible solutions mba o&o&m&a nrm moumnt

, solution.”
A-X-B=1T o . (c) Determine the set of feasible solutions mwm.vmm.,ow:%.
where : : a . .
[ -5/3 13/6 —1/2 341 100 :
A= 4/3 -5/6 12| B=[011|andi={0 1 0
2/3 -1/6 1/2 112 001

5 A firm produces 3 goods Gy, G, G3 which are sold at 3 different
places Pi, P, P;. Let u;; be the number of units.of G; which
can’be sold at place B, 4,5 = 1,2, 3. ‘ o

These u;; values are given in the following table: . o ‘ : *

. - . _ G, Gy Gy _ ) P w

. ST P2 .1 3 | . ;
F o Pl 2 2 4 : w
o B Pl 4 0 4 « T :
v We Qmsoﬂo the prices per unit of Gy, Gy; G v% H:.s.? z3. What . : o .
‘ vﬁnm.m should be ogmmu when the m&mm mBocbn to 24 for mu? e L r
: 32 mow.,@ and 32 for Nuu ; B . m.
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on moé does 25 mo_cSon ovmbmm & the v:oom an wba z3should . o o
dm equal? : .
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